EARAROBEEIERT — 2 N— IBISH —F

20185 7H 108 (K) 7EIA#H2H

B - rs04—F="58 C3At ¥5F—#8

‘ [R1%] & ‘ [REBE] — | & (&) 15000 B

[A~&£] 17 :800,000  ~ 23&:320,000H ~ 33 :200,000H ~ 43:120,000 ™ 5 & :80,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
.- HEXEH :37. -1-1- . — AR (KF)
1 5| VA-T1r=v—L R i 1(3_7)2 B R ¢ ;ﬁg HBER
L:on7x B:XTUCH-IL Ya—7J7—~4L
N )13 :37. ~5-4- . — HAR—K (KH)
" : NERZEL2TAY R 15 IR Y |
LAY TN—2) B:)—FhobE-X pu e}
NJTTHENN 4 5 | mEF 1:37.9 6-6-6-5 |40.4| — 2 460 | BEEEH (KH)
3 6 AV '7 7~ 56.10 (3172 ) E—
LUN=ZE—FK B:XXF2 X147 77— L4
: 5 4 5 | BlER 1:37.9 14-14-14-14| 39.6 | — 8 476 | IBEH=E (KH)
Al vra-vT 54.0 e Gy | RS
L:A—JXM214 B:vMxYvEUE EvilLy RIT7—L
. N « THEF— :38. —~7-7- . — Mkt (KHF)
s1]q|venn—k it 6 z 1(738t§) 7-7-7-6 | 40.3 9 (4_5;5) i
v NnNyarhT7r BTV 4X J—HrTr—LA
28, 1 i 4 | KR 1:38.1 8-9-8-8 |40.3| — 14 | 425 |fEEES (KH)
6l5/7|7F¥Yv> 54.0 (3/4) (-7) | EFHER
L:wy)gdyr B:RvARxT1T7v>T EvJiLy RT77—L4L
- Py . 1 1-0- _ ERAIE (K3
7 NEEPEAY ST 46 B 1.(328>.5 12-11-9-9 | 40.2 7 <4+721) i
RHTIFUFY BHIT RNk AHE 18
. > 4 4 | KEEZ 1:38.9 4-4-3-3 | 42.6| — 1 500 | =EH (KH)
818(13 /rb)[//I-L\ 54.0 (2) (-4) KitEE 2.
Qi Lk—L BiUSANLA—X —R&E77 -4
oMl 10 VIN=HILT IV L M4 élﬁ%ﬂ’(é?@ 1:(329).3 13-13-11-11| 41.1 | — | 10 | 490 igzgg (/1)
Z:va7x B:74 Moz — © =Y Ty—LA
JEE=; .39, —10-19— . — JARELE  (/)\HK)
. 0| 72U k28— 44 o (173;)73) 10-10-12-12 41.1 13 (4+910) e /
LN—VFNTyoa BASLELR g =R
. REMT :39. 02~ . — MEME (KH)
1lzlio vv=27270- it 6 (B 173?:53 2-2-2-2 | 43.0 1 (432) fofitn
R:Y¥v=>e574L B:ILIINTT HE TA
S 5 S f 4 | BEEX 1:39.3 1-11-13-13| 41.0 | — 5 418 | SEHARGL (iF)
12|58 777147 L%xv b 54.0 (F4<) @) | @) BokE
RI—32T74T—F B:TpAV—L—> L — Xk — 2455
S E c_ = it 6 | BEE 1:40.0 8-8-10-10 | 42.0 | — 12 | 452 |fEAAE— (KFH)
EE 9 7ty hA—=3 54'0¥ (3 1/2) (-5) HBRES
R:TFyIRAK BAA— I UT L =E IE—
ST, — _ B 7 | EHE 1:40.1 3-3-5-7 |43.2| — 6 472 | RN (KFH)
1418114 TJ75TIV—2Z4& A51.0 (1/2) ) (B) BX77—~4
L:Y=Z284—-3I=24— B:FrOx-—X7-7 B0
® 1—F—@EBIERL
1T=7r= 5,12,14,13,4,6,1,(7,9),2,8,3,10,11
23—4— |[5,12,14,13,4,6,1,9,7,2,(3,8),10,11
§a=7r= 5,12,13,4,14,6,1,7,3,9,10,2,8,11
43—+ — 5,12,13,4,6,1,14,7,3,9,10,2,8,11
[ N5
B 5 820H 714K 4-5 840M e E 3-4 820M JEE 4-5-6 2,980M
B B 5 220/ 5-6 600 e B 4-3 1,730 3EE 5-4-6 23,000/
4 200/ 4-6 690 B & 4-5 2,560
6 180 B HE 5-4 6,710

ABICOVWTRDTEEERROODE. TR LIV,




